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           David Ellis  94335992 /  longdiagonal@bigpond.com    2

The first Yulgilbar-Think Big Australian & CAWA Grand Prix event, the Kingsley Open, took place last weekend.  Winner with a perfect score of 6/6 was university student Yita Choong.  Second was Stephanus Kurniawan (5/6), with Derek Elkington (4.5) 3rd..  Under 1850 winner was primary school student Ryan Sam (4).  Ryan, who had recently won the WA Junior Lightning Championship, had been absent from chess last year but showed increasing maturity, particularly in his final round win against Ned Tomic.  Other prize winners: Under 1750 Girma Orssengo (3.5), Under 1550 Denis McMahon & Gary Donaldson (2.5), Under 1200 Bernard Laugery (2.5).  
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Here is a position from Round 5, 

Ganesh Viswanath – Gordon Dunlop.  

A piece up, Ganesh has just played 

1.Rb1-c1 and appears certain to win 

a second piece and avenge a defeat to 

Gordon at Metro a few days earlier. 

However Gordon manages to achieve

equality in 4 moves:






291

Today’s game is by the Kingsley winner, Yita Choong, who also won the last Division 1 Respini Cup competition at Metro (Sept – Dec 2009).  Play follows extremely sharp theoretical lines in the Sicilian Defence with the winner needing a cool head to ward off the attack of his dangerous opponent (notes by Y. Choong):

        John Fedec  -  Yita Choong, 


 2009 Metro Respini A Division, Rd 3

  Sicilian Defence, Najdorf Variation

1.e4 

c5 

2.Nf3

d6 

3.d4 

cxd4 

4.Nxd4 
Nf6 

5.Nc3 
a6 

6.Bg5 
e6 

7.f4 

Qc7(a) 
8.Qf3 

b5  

9.f5(b) 
b4 

10.Ncb5!(c) axb5 

11.Bxb5+ 
Bd7 

12.fxe6 
Bxb5!(d)  

13.Nxb5 
Qc5 

14.Bxf6 
fxe6!(e) 

15.Nd4(f) 
gxf6 

16.Nxe6(g) 
Qc4 

17.Qxf6 
Nd7!(h) 
18.Nc7+(i) 
Qxc7 

19.Qxh8 
Qc5 

20.0–0–0??(j) Rxa2(k)  . 

21.Kb1 
Qa7! 

22.b3(l) 
Ne5(m)

23.Kc1 
Ra1+ 

24.Kd2 
Qf2# 0–1
a) This side variation was played by Kasparov in his younger days, and is somewhat less theoretical than the main lines with 7...Be7 or 7...Qb6
b) This line used to be offer good attacking prospects for White, but Black is fine as long as he is careful for a few moves
c) White now sacrifices a piece, since the alternatives are worse: 10.Nce2 e5 is slightly better for Black; 10.fxe6? bxc3 11.Bxf6 cxb2 12.Rb1 gxf6 13.Qxf6 Qc3+ 14.Kf2 Bxe6 is winning for Black.
d) Instead 12...fxe6? lands Black into trouble after 13.Bxf6 Bxb5 14.Qh5+ Qf7 15.Qxb5+ Nd7 16.Bh4 with advantage to White.  

e) The best move leaving White with two pieces en prise.
f) The best alternative is probably 15.e5!? when Black has 15...Qxb5 16.Qxa8 gxf6 17.exf6 Kf7 with good attacking prospects and a reasonably safe king on f7.
g) Capturing the other pawn with 16.Qxf6 runs into 16...Qe5, with a clear advantage for Black.  
h) Now Black gives back an exchange in order to start his own counterattack.`
i) Another option was 18.Qxh8 Qxe4+ 19.Kd1 Qg4+ 20.Kc1 Qxe6, which looks promising for Black, although with good play White should be able to draw. 

k) Suddenly Black threatens to win with 21...Ra1+ 22.Kd2 Qf2+ 23.Kd3 Ne5+ etc. 

l) Instead 22.Kc1 Ra1+ 23. Kd2 Qf2+ wins for Black as in the above note. 

m) Black cuts off the White queen from the long diagonal, leaving the White king defenceless against the onslaught.
j) This is the only real mistake of the game, but already the decisive one. White's best chance was probably 20.Qxh7 Qe3+ 21.Kf1 with Qh3 to follow.
SOLUTION:  1…b6! 2.Nxc5 b2! 3. Nxd3 Rxc1+! (White probably expected 3…bxc1=Q+) 4.Ndxc1 b1=Q (the passed pawn’s lust to promote!) with equality. White would have done better to play 2.Nb2 when 2…Bc2 3.Ra1 g5?! avoiding possibilities of back row mates and hoping to place his black bishop actively on the a1-h8 diagonal, keeps Black in the game.
